Bewertungsformel Rechtschreibung: Anzahl Fehler x 100
Anzahl der Wérter

= Fehlerquotient (FQ)

1 2 3 4 5 6
Abschreibiibung KI. 3/4| 0-1,0 1,1-3,0 31-60 | 6,1-10,0 1101-150| >151
Aufsatz KI. 4 0-2,5 26-6,0 {61-11,0 |[11,1-16,016,1-24,0] >24/1
Diktat KI. 3/4 0-2,5 26-70 | 71-13,0 113,1-22,0122,1-350| >35/1
Abschreibilibung KI. 5/6 | 0-1,0 1,1-30 | 3,1-6,0 | 6,1-10,0 |10,1-15,0] >151
Aufsatz KI. 5/6 0-1,5 1,6 -4,5 46-90 | 91-150 |151-225| >226
Diktat KI. 5/6 0-2,0 21-6,0 | 6,1-12,0 | 12,1-20,0|20,1-30,0 > 30,1

Stand: 1.8.2018




